

358.4 : 656.7

...

,

:

() -

: $d() -$,

; $\bigcup_{u \in (t_j, t_{j+1})} \Delta_u -$,

; Δ_u (t_j) - (t_j) - « »

« »

LRU

t_j; (t_j) (t_j) - (t_j) (t_j); (t_j,

t_{j+1}) - (t_j, t_{j+1});

(t_k, t) - (t_j) (t_j) (t_k, t).

LRU,

$\frac{(t_k, t)}{t_1, t_k}$

$\overline{t_1, t_k}$,

(t_j) ,

$$(t_j) = \bigcup_{t_j}^{t_j} (t_j) \cup (t_j) \cup \dots$$

(t_k, t):

$$P_E(t_k, t) = \sum_{j=0}^k P_B(t_j) [1 - (t - t_j)] \int_{t-t_j}^{\infty} P(\overline{t_{j+1} - t_j, t_{k-1} - t_j; t_k - t_j} | [\xi(\Gamma) d[\Gamma +$$

$$+ \sum_{j=0}^{k-1} \int_{t_j}^{t_{j+1}} [1 - (t - u)] \int_{t-u}^{\infty} P(\overline{t_{j+1} - u, t_{k-1} - u; t_k - u} | [\xi(\Gamma) d[\Gamma dH(u) +$$

$$+ \int_{t_k}^t [1 - (t - u)] [1 - F(t - u)] dH(u); \tag{1}$$

t_j:

$$P(t_j) = \sum_{v=0}^{j-1} \left\{ P_B(t_v) [1 - (t_j - t_v)] \int_{t_j - t_v}^{\infty} P(\overline{t_{v+1} - t_v, t_{j-1} - t_v; t_j - t_v} | [\] \check{S}([\] d[+ \right. \\ \left. + \int_{t_v}^{t_{v+1}} [1 - (t_j - u)] \int_{t_j - u}^{\infty} P_{XB}(\overline{t_{v+1} - u, t_{j-1} - u; t_j - u} | [\] \check{S}([\] dH(u)) \right\}; \tag{2}$$

$$P(t_j) = 1 - P(t_j) - \sum_{v=0}^{j-1} \left\{ P_B(t_v) [1 - (t_j - t_v)] \times \right. \\ \times \int_0^{t_j - t_v} P(\overline{t_{v+1} - t_v, t_{j-1} - t_v; t_j - t_v} | [\] \check{S}([\] d[+ \\ \left. + \int_{t_j - t_v}^{\infty} P(\overline{t_{v+1} - t_v, t_{j-1} - t_v; t_j - t_v} | [\] \check{S}([\] d[+ \int_{t_v}^{t_{v+1}} [1 - (t_j - u)] \times \right. \\ \left. \times \left[\int_0^{t_j - u} P(\overline{t_{v+1} - u, t_{j-1} - u; t_j - u} | [\] \check{S}([\] d[+ \right. \right. \\ \left. \left. \int_{t_j - u}^{\infty} P(\overline{t_{v+1} - u, t_{j-1} - u; t_j - u} | [\] \check{S}([\] d[\right] \right) dH(u) \right\}; \tag{3}$$

$$P(t_j, t_{j+1}) = \sum_{v=0}^j \left\{ P_B(t_v) [(t_{j+1} - t_v) - (t_j - t_v)] \times \right. \\ \times \left[\int_0^{t_{j+1} - t_v} P(\overline{t_{v+1} - t_v, t_{j-1} - t_v; t_j - t_v} | [\] \check{S}([\] d[+ \right. \\ \left. \sum_{i=v}^{j-1} \int_{t_i - t_v}^{\infty} P(\overline{t_{v+1} - t_v, t_{j-1} - t_v; t_j - t_v} | [\] \check{S}([\] d[\right. \\ \left. + \int_{t_v}^{t_{v+1}} [(t_{j+1} - u) - (t_j - u)] \times \right. \\ \left. \times \left[\int_0^{t_j - u} P(\overline{t_{v+1} - u, t_{j-1} - u; t_j - u} | [\] \check{S}([\] d[+ \right. \right. \\ \left. \left. + \sum_{i=v+1}^{j-1} \int_{t_i - u}^{t_{i+1} - u} P(\overline{t_{v+1} - u, t_{j-1} - u; t_j - u} | [\] \check{S}([\] d[+ \right. \right. \\ \left. \left. + \int_{t_j - u}^{\infty} P(\overline{t_{v+1} - u, t_{j-1} - u; t_j - u} | [\] \check{S}([\] d[\right] \right) dH(u) \right\}; \tag{4}$$

$$(t_j) = (t_j) + (t_j) \tag{5}$$

$$(t_k, t) = \left\{ \bigcup_{j=0}^{k-1} \left[B(t_j) \cap R > t - t_j \cap \Xi > t_i - t_j \cap \left(\bigcap_{i=j+1}^k \Xi_i^* > t_i - t_j \right) \right] \cup \right. \\ \left. \bigcup_{u \in (t_j, t_{j+1})} \left[B_0(u) \cap R > t - u \cap \Xi > t - u \cap \left(\bigcap_{i=j+1}^k \Xi_i^* > t_i - t_j \right) \right] \right\} \cup$$

$$\bigcup [B(t_k) \cap R > t - t_k \cap \Xi > t - t_k] \bigcup \left[\bigcup_{u \in (t_k, t)} [B_0(u) \cap R > t - u \cap \Xi > t - u] \right]$$

$$\Delta_u = B_0(u) \cap R > t - u \cap \Xi > t - u \cap \left(\bigcap_{i=j+1}^k \Xi_i^* > t_i - t_j \right) \tag{1}$$

$$\Delta_u = B_0(u) \cap R > t - u \cap \Xi > t - u \cap \left(\bigcap_{i=j+1}^k \Xi_i^* > t_i - t_j \right) \tag{u}$$

$$P(\Delta_u) = [1 - (t - u)] \int_{t-u}^{\infty} P(\overline{t_{j+1} - u, t_{k-1} - u; t_k - u} | \mathfrak{S}(\cdot)) dH(u) \tag{6}$$

$$P\left(\bigcup_{u \in (t_j, t_{j+1})} \Delta_u\right) = \int_{t_j}^{t_{j+1}} [1 - (t - u)] \int_{t-u}^{\infty} P(\overline{t_{j+1} - u, t_{k-1} - u; t_k - u} | \mathfrak{S}(\cdot)) dH(u) \tag{6}$$

$$\mathfrak{S}(\cdot) = \exp(-\cdot), \quad (\dots) = \exp(-\dots) \tag{7}$$

$$B(t_k, t) = \sum_{j=0}^k B(t_j) \exp[-(\lambda + \lambda_0)(t - t_j)] (1 - r)^{k-j} + \frac{\lambda_0}{\lambda + \lambda_0} \times \sum_{j=0}^{k-1} [\exp[-(\lambda + \lambda_0)(t - t_{j+1})] - \exp[-(\lambda + \lambda_0)(t - t_j)]] + \tag{8}$$

$$+ (1 - r)^{k-j} + \frac{\lambda_0}{\lambda + \lambda_0} [1 - \exp[-(\lambda + \lambda_0)(t - t_{j+1})]]$$

$$B(t) = r \sum_{v=0}^{j-1} B(t_v) \exp[-(\lambda + \lambda_0)(t - t_j)] + \frac{\lambda_0}{\lambda + \lambda_0} \times \sum_{j=0}^{k-1} [\exp[-(\lambda + \lambda_0)(t_j - t_{v+1})] - \exp[-(\lambda + \lambda_0)(t_j - t_v)]] + (1 - r)^{j-v-1}; \tag{9}$$

$$(j\ddagger) = (1 - s) [1 - P(j\ddagger) / r] \tag{10}$$

$$\left(\overline{t_{v+1} - t_v, t_{v-1} - t_v; t_j - t_v} \mid \langle \right), \quad \left(\overline{t_{j+1} - t_j, t_{k-1} - t_j; t_k - t_j} \mid \langle \right), \quad {}_{HB} \left(\overline{t_{v+1} - t_v, t_{v-1} - t_v; t_j - t_v} \mid \langle \right)$$

$$\left(\overline{t_{v+1} - t_v, t_{v-1} - t_v; t_j - t_v} \mid \langle \right) = r(1 - r)^{j-v-1}, \quad j = \overline{1, k}, v = \overline{1, j-1}; \tag{11}$$

$$\left(\overline{t_{j+1} - t_j, t_{k-1} - t_j; t_k - t_j} \mid \langle \right) = (1 - r)^{k-j}, \quad k = 1, 2, \dots; \tag{12}$$

$${}_{HB}(\overline{t_{v+1}-t_v, t_{v-1}-t_v}; t_j - t_v | <) = (1-r)^{i-v} s^{j-i}, i = v, j-1, t_i - t_v < < \leq t_{i+1} - t_v, \quad (13)$$

LRU « » (8)-(10)
 LRU « » ; β - (1)-(5)
 (7), (11)-(13)
 (14)

$$H(t) = \dots \quad (14)$$

$$\begin{aligned} (k\ddagger, t) &= \sum_{j=0}^k {}_B(j\ddagger) \exp[-(\} + \}_0)(t - j\ddagger)](1-r)^{k-j} + \frac{\}_0}{\} + \}_0} \times \\ &\times [\exp[(\} + \}_0)\ddagger] - 1] + \sum_{j=0}^{k-1} [\exp[-(\} + \}_0)(t - j\ddagger)](1-r)^{k-j}] + \\ &+ \frac{\}_0}{\} + \}_0} [1 - \exp[-(\} + \}_0)(t - k\ddagger)]; \end{aligned} \quad (15)$$

$$\begin{aligned} (j\ddagger) &= r \sum_{v=0}^{j-1} {}_B(v\ddagger) + \frac{\}_0}{\} + \}_0} [1 - \exp[-(\} + \}_0)\ddagger]] \times \\ &\times \exp[-(\} + \}_0)(j - v - 1)\ddagger] (1-r)^{j-v-1}; \end{aligned} \quad (16)$$

$$(j\ddagger) = (1-s)[1 - P(j\ddagger)/r] \quad (17)$$

$k < t < (k+1)$.
 (10) $t_k = k$ (8)- ()=0, 3. $t_k = k, \omega(\xi) = \lambda e^{-\lambda \xi}$
 (15)-(17).

$$(k\ddagger, t) = \sum_{j=0}^{k-1} {}_B(j\ddagger) \exp[-\}(t - j\ddagger)](1-r)^{k-j} + {}_B(k\ddagger) \exp[-\}(t - j\ddagger)]; \quad (18)$$

$$(j\ddagger) = r \sum_{v=0}^{j-1} {}_B(v\ddagger) \exp[-(j+v)\ddagger] (1-r)^{j-v-1}, \quad (19)$$

(17).
 (16) λ_0 , (15)
 (18) (19)

1. / . . . / . . . /
2. (Doc 9760- AN/967)« »
3.

2. . . . , 2006. - 74 .

02.11.2014

METHOD OF ASSESSMENT IN RES OPERATIONAL RELIABILITY OVERT AND COVERT FAILURES

Ragulin S.V.

In this paper we propose a method evaluation of the operational reliability of the RECs with overt and covert failures. The obtained results allow us to evaluate the effectiveness of maintenance strategies RES during post-warranty service and justify the requirements for reliability FAC

Keywords: *uptime, operational reliability, the exponential law*